03/14/24

PROPOSAL FOR LIFT STATION #04 Revised

Mobilization (item #1)

Install 8" bypass system (item #25).

Cleaning the wet well using a vactor truck (item #225).

Remove and re-install station Control devices, items #189, #191 and #199, for 1 hour.

Remove existing wet well coating (item #102)

Surface preparation and install Sewpercoat (item #97).

ITEM NO.	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE
1	Site Mobilization/Demobilization (per station)	EA	1	\$17,120.00	\$17,120.00
25	By-Pass Pumping (8" pump) w/high level float and alarm	DAY	21	\$1,050.00	\$22,050.00
97	Surface Prep and Coat the Interior Well Surface Per Coating for 12' Diameter Wetwell	LF	50	\$760.00	\$38,000.00
102	Remove Existing Wetwell Coating	EA	2.5	\$6,050.00	\$15,125.00
188	Supervisor	HR	32	\$90.00	\$2,880.00
189	Foreman	HR	1	\$84.00	\$84.00
191	Laborer	HR	1	\$36.00	\$36.00
199	Crew Truck	HR	1	\$33.00	\$33.00
225	Provide Vactor Services as needed (tie-ins and wet-well cleaning)	HR	32	\$370.00	\$11,840.00
	GRAND TOTAL		•		\$107,168.00

03/14/24

PROPOSAL FOR LIFT STATION #29 Revised

Mobilization (item #1), and install minor MOT as needed (items #2)

Install 4" bypass system (item #23).

Cleaning the wet well using a vactor truck (item #225).

Remove and re-install station Control devices, items #189, #191 and #199, for 1 hour.

Surface preparation and install Sewpercoat (item #95).

ITEM NO.	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE
1	Site Mobilization/Demobilization (per station)		0.3	\$17,120.00	\$5,136.00
	City Approved Maintenance of Traffic per station (minor, no lane closure of				
2	intersection) - Up to 45 days	EA	1	\$3,060.00	\$3,060.00
23	By-Pass Pumping (4" pump) w/high level float and alarm	DAY	9	\$470.00	\$4,230.00
95	Surface Prep and Coat the Interior Well Surface Per Coating for 8' Diameter	LF	20	\$660.00	\$13,200.00
	Wetwell				
188	Supervisor	HR	4	\$90.00	\$360.00
189	Foreman	HR	1	\$84.00	\$84.00
191	Laborer	HR	1	\$36.00	\$36.00
199	Crew Truck	HR	1	\$33.00	\$33.00
225	Provide Vactor Services as needed (tie-ins and wet-well cleaning)	HR	8	\$370.00	\$2,960.00
	GRAND TOTAL				\$29,099.00

03/14/24

PROPOSAL FOR LIFT STATION #25 Revised

Mobilization (item #1), and install minor MOT as needed (items #2)

Install 4" bypass system (item #23).

Cleaning the wet well using a vactor truck (item #225).

Remove and re-install station Control devices, items #189, #191 and #199, for 1 hour.

Surface preparation and install Sewpercoat (item #95).

ITEM NO.	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE
1	Site Mobilization/Demobilization (per station)	EA	0.3	\$17,120.00	\$5,136.00
	City Approved Maintenance of Traffic per station (minor, no lane closure of				
2	intersection) - Up to 45 days	EA	1	\$3,060.00	\$3,060.00
23	By-Pass Pumping (4" pump) w/high level float and alarm	DAY	8	\$470.00	\$3,760.00
95	Surface Prep and Coat the Interior Well Surface Per Coating for 8' Diameter	LF	20	\$660.00	\$13,200.00
	Wetwell (Sewpercoat)				
188	Supervisor	HR	4	\$90.00	\$360.00
189	Foreman	HR	1	\$84.00	\$84.00
191	Laborer	HR	1	\$36.00	\$36.00
199	Crew Truck	HR	1	\$33.00	\$33.00
225	Provide Vactor Services as needed (tie-ins and wet-well cleaning)	HR	8	\$370.00	\$2,960.00
	GRAND TOTAL		•		\$28,629.00

03/14/24

PROPOSAL FOR LIFT STATION #30 Revised

Mobilization (item #1), and install minor MOT as needed (items #2)

Install 4" bypass system (item #23).

Cleaning the wet well using a vactor truck (item #225).

Remove and re-install station Control devices, items #189, #191 and #199, for 1 hour.

Surface preparation and install Sewpercoat (item #95).

ITEM NO.	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE
1	Site Mobilization/Demobilization (per station)		0.3	\$17,120.00	\$5,136.00
	City Approved Maintenance of Traffic per station (minor, no lane closure of				
2	intersection) - Up to 45 days	EA	1	\$3,060.00	\$3,060.00
23	By-Pass Pumping (4" pump) w/high level float and alarm	DAY	10	\$470.00	\$4,700.00
95	Surface Prep and Coat the Interior Well Surface Per Coating for 8' Diameter	LF	22	\$660.00	\$14,520.00
	Wetwell				
188	Supervisor	HR	4	\$90.00	\$360.00
189	Foreman	HR	1	\$84.00	\$84.00
191	Laborer	HR	1	\$36.00	\$36.00
199	Crew Truck	HR	1	\$33.00	\$33.00
225	Provide Vactor Services as needed (tie-ins and wet-well cleaning)	HR	8	\$370.00	\$2,960.00
	GRAND TOTAL				\$30,889.00

03/14/24

PROPOSAL FOR LIFT STATION #39 Revised

Mobilization (item #1), and install minor MOT as needed (items #2)

Install 4" bypass system (item #23).

Cleaning the wet well using a vactor truck (item #225).

Remove and re-install station Control devices, items #189, #191 and #199, for 1 hour.

Surface preparation and install Sewpercoat (item #95).

ITEM NO.	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE
1	Site Mobilization/Demobilization (per station)	EA	0.35	\$17,120.00	\$5,992.00
	City Approved Maintenance of Traffic per station (minor, no lane closure of				
2	intersection) - Up to 45 days	EA	1	\$3,060.00	\$3,060.00
23	By-Pass Pumping (4" pump) w/high level float and alarm	DAY	10	\$470.00	\$4,700.00
95	Surface Prep and Coat the Interior Well Surface Per Coating for 8' Diameter	LF	24	\$660.00	\$15,840.00
	Wetwell				
188	Supervisor	HR	4	\$90.00	\$360.00
189	Foreman	HR	1	\$84.00	\$84.00
191	Laborer	HR	1	\$36.00	\$36.00
199	Crew Truck	HR	1	\$33.00	\$33.00
225	Provide Vactor Services as needed (tie-ins and wet-well cleaning)	HR	8	\$370.00	\$2,960.00
	GRAND TOTAL				\$33,065.00

03/15/24

PROPOSAL FOR LIFT STATION #55 Revised

Mobilization (item #1), and install minor MOT as needed (items #2)

Install 6" bypass system (item #24).

Cleaning the wet well using a vactor truck (item #225).

Remove and install Station Control Devices, Items #189, #191, and #199, for 1 hour.

Surface preparation and install Sewpercoat (item #95).

ITEM NO.	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE
1	Site Mobilization/Demobilization (per station)	EA	0.35	\$17,120.00	\$5,992.00
	City Approved Maintenance of Traffic per station (minor, no lane closure of				
2	intersection) - Up to 45 days	EA	1	\$3,060.00	\$3,060.00
24	By-Pass Pumping (6" pump) w/high level float and alarm	DAY	10	\$580.00	\$5,800.00
95	Surface Prep and Coat the Interior Well Surface Per Coating for 8' Diameter Wetwell	LF	22	\$660.00	\$14,520.00
188	Supervisor	HR	4	\$90.00	\$360.00
189	Foreman	HR	1	\$84.00	\$84.00
191	Laborer	HR	1	\$36.00	\$36.00
199	Crew Truck	HR	1	\$33.00	\$33.00
225	Provide Vactor Services as needed (tie-ins and wet-well cleaning)	HR	8	\$370.00	\$2,960.00
	GRAND TOTAL				\$32,845.00

03/15/24

PROPOSAL FOR LIFT STATION #56 Revised

Mobilization (item #1), and install minor MOT as needed (items #2)

Install 6" bypass system (item #24).

Cleaning the wet well using a vactor truck (item #225).

Remove and re-install station Control devices, items #189, #191 and #199, for 1 hour.

Surface preparation and install Sewpercoat (item #95).

ITEM NO.	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE
1	Site Mobilization/Demobilization (per station)	EA	0.4	\$17,120.00	\$6,848.00
	City Approved Maintenance of Traffic per station (minor, no lane closure of				
2	intersection) - Up to 45 days	EA	1	\$3,060.00	\$3,060.00
24	By-Pass Pumping (6" pump) w/high level float and alarm	DAY	12	\$580.00	\$6,960.00
96	Surface Prep and Coat the Interior Well Surface Per Coating for 10' Diameter Wetwell	LF	26	\$690.00	\$17,940.00
188	Supervisor	HR	4	\$90.00	\$360.00
189	Foreman	HR	1	\$84.00	\$84.00
191	Laborer	HR	1	\$36.00	\$36.00
199	Crew Truck	HR	1	\$33.00	\$33.00
225	Provide Vactor Services as needed (tie-ins and wet-well cleaning)	HR	8	\$370.00	\$2,960.00
	GRAND TOTAL				\$38,281.00

03/15/24

PROPOSAL FOR LIFT STATION #82 Revised

Mobilization (item #1), and install minor MOT as needed (items #2)

Install 8" bypass system (item #25).

Cleaning the wet well using a vactor truck (item #225).

Remove and re-install station Control devices, items #189, #191 and #199, for 1 hour.

Surface preparation and install Sewpercoat (item #95).

ITEM NO.	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE
1	Site Mobilization/Demobilization (per station)	EA	0.4	\$17,120.00	\$6,848.00
	City Approved Maintenance of Traffic per station (minor, no lane closure of				
2	intersection) - Up to 45 days	EA	1	\$3,060.00	\$3,060.00
25	By-Pass Pumping (8" pump) w/high level float and alarm	DAY	10	\$1,050.00	\$10,500.00
95	Surface Prep and Coat the Interior Well Surface Per Coating for 8' Diameter	LF	22	\$660.00	\$14,520.00
	Wetwell				
188	Supervisor	HR	4	\$90.00	\$360.00
189	Foreman	HR	1	\$84.00	\$84.00
191	Laborer	HR	1	\$36.00	\$36.00
199	Crew Truck	HR	1	\$33.00	\$33.00
225	Provide Vactor Services as needed (tie-ins and wet-well cleaning)	HR	8	\$370.00	\$2,960.00
	GRAND TOTAL				\$38,401.00

01/09/24

PROPOSAL FOR LIFT STATION #109

Mobilization (item #1), and install minor MOT as needed (items #2)

Install 4" bypass system (item #23).

Cleaning the wet well using a vactor truck (item #225).

Remove and re-install station Control devices, items #189 and #199, for 1 hours.

Surface preparation and install Sewpercoat (item #94).

ITEM NO.	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE
1	Site Mobilization/Demobilization (per station)	EA	0.3	\$17,120.00	\$5,136.00
	City Approved Maintenance of Traffic per station (minor, no lane closure of				
2	intersection) - Up to 45 days	EA	1	\$3,060.00	\$3,060.00
23	By-Pass Pumping (4" pump) w/high level float and alarm	DAY	10	\$470.00	\$4,700.00
94	Surface Prep and Coat the Interior Well Surface Per Coating for 6' Diameter	LF	22	\$590.00	\$12,980.00
	Wetwell (Sewpercoat)				
188	Supervisor	HR	4	\$90.00	\$360.00
189	Foreman	HR	1	\$84.00	\$84.00
191	Laborer	HR	1	\$36.00	\$36.00
199	Crew Truck	HR	1	\$33.00	\$33.00
225	Provide Vactor Services as needed (tie-ins and wet-well cleaning)	HR	8	\$370.00	\$2,960.00
	GRAND TOTAL				\$29,349.00

		Lift Station	Wet Well Lining Project	
#	<u>STATION</u>	<u>ADDRESS</u>	<u>COMMENTS</u>	<u>Proposal</u>
1	MLS 4	11500 SW 9TH ST		\$107,168.00
2	29	1800 HIATUS RD		\$29,099.00
3	25	9475 NW 8TH ST		\$28,629.00
4	30	11800 TAFT STREET		\$30,889.00
5	39	10156 NW 21 STREET	Cedar Woods	\$33,065.00
6	49	124 NW 93 AVE	INSIDE GATED APARTMENT COMPLEX	
			SQUARE WELL, CENTURY VILLAGE HIGH FLOW STATION,	
7	55	13601 SW 10 STREET	GATED	\$32,845.00
			SQUARE WELL, CENTURY VILLAGE HIGH FLOW STATION,	
8	56	900 SW 128 AVENUE	GATED	\$38,281.00
9	109	1258 NW 163RD ST.		\$29,349.00
10	82	891 NW 186TH ST		\$38,401.00
				\$367,726.00